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CE N 1,216,272 106,853 109,419
2 76,807 51,351 25,456
< 99,044 87,587 11,457
2 1,040,421 967,915 72,506
BASY B WS X 656,207 659,430 ~3,223
HMSHS B MUK 484,657 485,930 A1,273
201 et A H| 1,457 2,730 A1,273
01 AL 22l 2,457 2,730 ~273
oge=Ed Sl =F 2,457 2,730 ~273
02 B2l 9,000 0,000 A1,000
CEEEESIIEEL = 9,000 0,000 A1,000
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201 Yot | 14,400 16,000 A1,600
01 AL 22l bl 9,900 1,000 A1,100
CEEL-TTE= =R 3,600 4,000 £400
OUBASY IS 6,300 7,000 AT00
OYA&g =R 1,800 2,000 A200
O} HI & = 4,500 5,000 A500
03 & At 2 bl 4,500 5,000 A500
O U =R 4,500 5,000 A500
301 LB A3 3,150 3,500 A350
09 BAAHI B A 3,150 3,500 2350
OnS L AT FI2Y FYF 3,150 3,500 A350
=R 63,000 14,000 49,000
NeAsY 2N 5,400 6,000 A600
201 2Ler2 HH| 3,600 4,000 £400
01 At 22l bl 3,600 4,000 2400
CHETES=3] = 3,600 4,000 A400
301 LB A 1,800 2,000 A200
09 B AFAIHI 243 1,800 2,000 A200
OHBASALNEAS A8 U 9
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< 34,564 23,107 11,457
z 80,649 53,920 26,729
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OFEY SN X 2F 192,020,000% 192,020 128,378 63,642
= 76,807 51,351 25,456
= 34,564 23,107 11,457
2 80,649 53,920 26,729
HEPsYo IS L JEHY 113,491 118,420 £ 4,929
AEYSATM N 113,491 118,420 £ 4,929
A=Y VHE 2% 29 29,670 31,300 A 1,630
201 et2 Y| 14,670 16,300 A 1,630
01 At 22l 11,700 13,000 A1,300
OHEASATME 2% 11,700 13,000 A1,300
OXME 29 22 72 ZH 9,000,000 9,000 10,000 A 1,000
O#f4 MAME SXH BH 2,700,000 2,700 3,000 A 300
02 ZZ 2l 2,970 3,300 £330
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2H 2,970,0002 2,970 3,300 £330
VEASAX ME L ASAE 83,821 87,120 £3,299
201 YEtS | 29,691 32,990 £3,299
01 At 22l 29,691 32,990 13,299
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OE 2&H(EZE) ZF 10,800,0002 10,800 12,000 A1,200
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= 31,559 29,776 1,783

S 8,933 8,933 0
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202 o4 Hl 1,783 0 1,783

= 1,783 0 1,783

01 SLHOHI 1,783 0 1,783

OAZ =& =HOHI 1,783 0 1,783

1,783 0 1,783
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= 243,333 459,050 A215,717

Xl 160,000 160,000 0
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SEMMAANHESI A 199,200 187,200 12,000
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402 RI2HX= 01 M 199,200 187,200 12,000
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H SEE2 4EHE SsSAHY 750,000 800,000 250,000
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SA BB S (EH) - NEAMY - B 0 4t o4 oI o HRE
206 M= Hl 2,900 3,140 A 240
J| 2,900 3,140 A 240
01 =8l 2,900 3,140 A 240
OMXNEN E2HH 2 & 2,900,000 2,900 3,140 2240
J| 2,900 3,140 A 240
b= M AFAI A X2 1,333,531 671,185 662,346
= 80,000 0 80,000
J| 58,174 100,000 N41,826
=) 111,976 134,476 A 22,500
e 1,083,381 436,709 646,672
t==.58 gRFA 4,600 5,000 A 400
201 LBt 900 1,000 A 100
01 At 22l 900 1,000 A 100
Oyoed &84 =& 2 & 900,000 900 1,000 A 100
301 et A3z 2,700 3,000 A 300
09 AL HIZB A S 2,700 3,000 A 300
OM4HS DT Y I FHBH
Z& 2,700,000 2,700 3,000 A 300
D MAANLSHE XA 125,000 250,000 A 125,000
J| 50,000 100,000 50,000
= 22,500 45,000 A 22,500
[ia 52,500 105,000 A 52,500
402 RIZ2FXt201 ™ 125,000 250,000 A 125,000
J| 50,000 100,000 250,000
=) 22,500 45,000 A 22,500
[ia 52,500 105,000 A 52,500
02 RIZt X2 AL EZ (01X ) 125,000 250,000 A 125,000
Otz MAAIE BUSALS
Z & 125,000,000 125,000 250,000 A 125,000
J| 50,000 100,000 A 50,000
< 22,500 45,000 A 22,500
s 52,500 105,000 252,500
HH X2 (=) 445,631 0 445,631
301 et A= 445,631 0 445,631
11IIEtEA S 445,631 0 445,631
Ot FTA HE XS [FZHEA] 445,631 0 445,631
Mol 2= E (=) 173,941 0 173,941
301 LA F 173,941 0 173,941
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= 80,000 0 80,000
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402 I X2 0| & 160,000 0 160,000

2 80,000 0 80,000

2 80,000 0 80,000

02 QI2EXHE A E (01 ETH ) 160,000 0 160,000

OADE +EHBH2 ALY 23 160,000 0 160,000

2 80,000 0 80,000

2 80,000 0 80,000

D4 UHESHEE(F0}) 8,174 0 8,174

| 8,174 0 8,174

301 LB A2 8,174 0 8,174
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o] 8,174 0 8,174

CEEREE 372,985 113,085 259,900
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= 6,000 6,000 0
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Jl 32,000 20,000 12,000

£ 14,400 9,000 5,400
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J| 300,000 0 300,000
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[ia 315,000 0 315,000

402 212t X201 & 750,000 0 750,000

Il 300,000 0 300,000

= 135,000 0 135,000

a 315,000 0 315,000
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O+=Z=ME ANEE 2 UFAMY
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J| 300,000 0 300,000
=) 135,000 0 135,000
s 315,000 0 315,000
S A=A 911,157 882,322 28,835
= 24,000 24,000 0
& 104,660 92,828 11,832
= 782,497 765,494 17,003
s H=zl +=2 29,000 30,000 A 1,000
201 ¢er24| 9,000 10,000 A 1,000
02 =224l 9,000 10,000 A 1,000
ous=sd ¥ HUXFS sI A=
2 & 9,000,000& 9,000 10,000 A 1,000
SO H L A (XEAI) 432,425 441,830 A 9,405
201 LEt2A | 84,645 94,050 A9,405
01 At 22l bl 12,645 14,050 A 1,405
oget2dl 12,645 14,050 A 1,405
OSJIHYUMNY 2SRV Hasg
2 & 945,000& 945 1,050 A 105
OsSJIHSUMY S22 M
2& 2,700,000& 2,700 3,000 A 300
OsIIHS ALY SHHH 25|
2 & 9,000,000& 9,000 10,000 21,000
02 8324l 72,000 80,000 A 8,000
03322 ¥ sAZ2 72,000 80,000 A 8,000
OZU=sIIH 28t 2 & 27,000,000& 27,000 30,000 A 3,000
O232= ¥ dU=sIIAH A2
2 & 45,000,000 45,000 50,000 A5,000
sZIIAH ¥ u=E K& 93,249 53,809 39,440
< 31,975 20,143 11,832
T 61,274 33,666 27,608
405 TtabH S| 56,766 17,326 39,440
< 17,030 5,198 11,832
a 39,736 12,128 27,608
01 At ESFH S 56,766 17,326 39,440
O=g8 EE ¢ 39,440 0 39,440
= 11,832 0 11,832
[ia 27,608 0 27,608
SIH nsed 1,800 2,000 A 200
201 -4 1,800 2,000 A 200
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0= HN=% 29 2529
23 1,800,000% 1,800 2,000 A200
SUASAYEHS N 41,518 39,327 2,191
2 10,500 10,500 0
= 1,250 1,250 0
2 29,768 27,577 2,191
HHS0E 22 41,518 39,327 2,191
2 10,500 10,500 0
= 1,250 1,250 0
2 29,768 27,577 2,191
SXRSHHE VA 2Y N (KHAH) 5,518 13,327 2,191
101 2121l 8,235 5,235 3,000
03 RIHA2ZR 24 8,235 5,235 3,000
O B HEE SX2Y ALY 3,000 0 3,000
OYE It 1,000,000 +12*13] 1,000 0 1,000
o402 2,000,000 *1% *13] 2,000 0 2,000
201 2yt HH| 7,283 8,092 £809
01 At 22l 3,600 4,000 400
OHHBOE L AHURY 202
23 3,600,000% 3,600 4,000 A400
02 2B 3,683 4,092 £409
ORNSIABSTY |2+ 3,683 4,092 £409
odgsME 273 983,0008 983 1,092 A109
OBSMA DA ¥ 22l  ZFH 2,700,000 2,700 3,000 A300
MSUH B2 Y 5,000 5,000 0
= 1,250 1,250 0
2 3,750 3,750 0
202 01t 5,000 5,000 0
= 1,250 1,250 0
2 3,750 3,750 0
NIERTEL 500 1,000 A500
OMSYUHE SHHY J=DS
2 500,0008 500 1,000 A500
= 125 250 A125
i 375 750 A 375
03 2ol 2 olbl 4,500 4,000 500
OMSYUH SHHY J=DS
2 4,500,000% 4,500 4,000 500
< 1,125 1,000 125
2 3,375 3,000 375
#HSAHY) 133,678 131,857 1,821
SEELTEEE 133,678 131,857 1,821
A2yl 72,238 70,417 1,821
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201 Lyt | 63,738 70,417 ~6,679

01 AbR 22t 24,716 27,059 £2,343

©J1=+ 8t 23 6,147,000 6,147 6,830 683
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02 =524l 39,022 43,358 A 4,336

0222 % AAl 2 360,008 360 400 A40

ooyl A 21,483,0002 21,483 23,870 £2,387

O A& EHI ST 23 8,325,0002 8,325 9,250 ~925

CPYEY L] A 6,784,0002 6,784 7,538 AT54

oYxz 23 2,070,000 2,070 2,300 ~230

405 Th&H3 St 8,500 0 8,500

01 KAt U 2 E 5 St 8,500 0 8,500

OCHISZAI 7Y 8,500 0 8,500

WRES(H8Y =) 619,729 0 619,729
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2cH BE3 w3 619,729 0 619,729

802 v+ & 30|l 619,729 0 619,729

NEFEEEETTE] 394,856 0 394,856

CERCESSEE = 369,287 0 369,287

CEREE= P 25,569 0 25,569

02 Al - CHIBES W& 224,873 0 224,873

OZHIEES waa 220,131 0 220,131
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